www.edqun.ru

44

35

EDgun.
"

. B

LSA242200 Forward plug

ZZ;; g or | Hanm. / Name ObosHayerne / ID gol{}%% SL” r/ Zan g or | Hanm. / Name ObosHayerne / ID /C(?ogl.'s/')oc SLU r/ %Z/an g or | 1Hanm./ Name ObosrHayerne / ID /c()ol{}i;% SL” r/ Zan g or| Hanm./ Name ObosHayerne / ID /50;}7/ i)% s‘” r/
Yen. / Ver. LSA242200-4,5 Yen. / Ver. LSA242200-5,5 Yen. / Ver. LSA242200-6,35 vien. / Ver. LSA242200-7,62
1 lpyxuHa / Spring LSA101008 3 1 lpyxuHa / Spring LSA101008 3 1 lpyxuHa / Spring LSA101008 3 1 lpyxwuHa / Spring LSA101008 3
2 lpyxwuHa / Spring LSA101014 1 2 lpyxwuHa / Spring LSA101014 1 2 lpyxuHa / Spring LSA101014 1 2 TpyxuHa / Spring LSA101014 1
3 lpyxuna / Spring LSA201009 1 3 lpyxura / Spring LSA201009 1 3 lpyxuna / Spring LSA201009 1 3 lpyxura / Spring LSA201009 1
4 lpyxuna / Spring LSA231018 1 4 lpyxura / Spring LSA231018 1 4 lpyxura / Spring LSA231018 1 4 lpyxura / Spring LSA231018 1
5 Pasobiyunrens / Disconnector LSA202006 1 5 Pasobiyunrens / Disconnector LSA202006 1 5 Pasobiyunrens / Disconnector LSA202006 1 5 Pasobymrens / Disconnector LSA202006 1
6 Yrna / Needle LSA222003 1 6 Yrna / Needle LSA222003 1 6 Yrna / Needle LSA222003 1 6 Yrna / Needle LSA222003 1
7 Tnribsa / Shell LSA222012 1 7 Tnrib3a / Shell LSA222012 1 7 Tnribsa / Shell LSA222012 1 7 Twrib3a / Shell LSA222012 1
8 Lr3a / Noozle LSA222013-1,2 1 8 Lr3a / Noozle LSA222013-1,2 1 8 Lr3a / Noozle LSA222013-0,4 1 8 Lrw3a / Noozle LSA222013-0,3 1
9 Hrsa / Noozle LSA222013-1,2 1 9 Hrsa / Noozle LSA222013-1,2 1 9 Arsa / Noozle LSA222013-04 1 9 Hrosa / Noozle LSA222013-0,3 1
10 lHeTok / Support LSA232014 1 10 lHetok / Support LSA232014 1 10 lHetok / Support LSA232014 1 10 [Hetok / Support LSA232014 1
11 Knanan / Valve LSA222015 1 11 Knanan / Valve LSA222015 1 11 Knanan / Valve LSA222015 1 11 Knanaw / Valve LSA222015 1
12 KnanaH / Valve LSA222018 2 12 KnanaH / Valve LSA222018 2 12 KnanaH / Valve LSA222018 2 12 Knanaw / Valve LSA222018 2
13 Cegrio / Shell LSA242019 1 13 Cegrio / Shell LSA242019 1 13 Cegrio / Shell LSA242019 1 13 Cegrio / Shell LSA242019 1
14 Ccbepa / Sphere LSA242021 1 14 Ccbepa / Sphere LSA242021 1 14 Ccbepa / Sphere LSA242021 1 14 Ccbepa / Sphere LSA242021 1
15 lopLuers / Plunger LSA222102 1 15 lopLuers / Plunger LSA222102 1 15 lopLuersb / Plunger LSA222102 1 15 lopLuersb / Plunger LSA222102 1
16 lpobka nepeqHss / Forward plug | LSA242201 1 16 lpobka nepeqHss / Forward plug | LSA242201 1 16 lpobka nepeqHss / Forward plug | LSA242201 1 16 lpobka nepegHss / Forward plug LSA242201 1
17 lopLuers / Plunger LSA232202 1 17 lopLuersb / Plunger LSA232202 1 17 lopLuers / Plunger LSA232202 1 17 lopLuers / Plunger LSA232202 1
18 lpobka / Plug LSA232203 1 18 lpobka / Plug LSA232203 1 18 lpobka / Plug LSA232203 1 18 lpobka / Plug LSA232203 1
19 lNepesogyqnk / Ratchet LSA222206 1 19 lNepesogyqnk / Ratchet LSA222206 1 19 lNepesogyqnk / Ratchet LSA222206 1 19 lNepesogyqnk / Ratchet LSA222206 1
20 Kpbiiwka / Cap LSA222207 1 20 Kpwbiiwka / Cap LSA222207 1 20 Kpbiwka / Cap LSA222207 1 20 Kpwiiuka / Cap LSA222207 1
21 Tnrb3a / Shell LSA222208 1 21 [nrib3a / Shell LSA222208 1 21 Tnrib3a / Shell LSA222208 1 21 Tnrib3a / Shell LSA222208 1
22 3ayen / Piston LSA222209 1 22 3ayen / Piston LSA222209 1 22 3ayen / Piston LSA222209 1 22 3ayen / Piston LSA222209 1
23 LtnghT / Pin LSA222210 2 23 LTtnghT / Pin LSA222210 2 23 LUTtnghT / Pin LSA222210 2 23 LWTtnght / Pin LSA222210 2
24 Tnrib3a / Shell LSA242211 1 24 Tnrib3a / Shell LSA242211 1 24 Tnrib3a / Shell LSA242211 1 24 Turib3a / Shell LSA242211 1
25 Knanaw / Valve LSA222212 1 25 Knanaw / Valve LSA222212 1 25 Knanaw / Valve LSA222212 1 25 KnanaH / Valve LSA222212 1
26 3amok / Lock LSA242214 1 26 3amok / Lock LSA242214 1 26 3amok / Lock LSA242214 1 26 3amok / Lock LSA242214 1
27 lpobka / Plug LSA222215 1 27 lpobka / Plug LSA222215 1 27 lpobka / Plug LSA222215 1 27 lpobka / Plug LSA222215 1
28 Purenb / Bar LSA222216 1 28 Purene / Bar LSA222216 1 28 Purene / Bar LSA222216 1 28 Purenb / Bar LSA222216 1
29 KHorka / Button LSA222217 1 29 KHorka / Button LSA222217 1 29 KHorka / Button LSA222217 1 29 KHorka / Button LSA222217 1
30 lpyxuHa / Spring LSA241008 2 30 lpyxwuHa / Spring LSA241008 2 30 lpyxura / Spring LSA241008 2 30 lpyxwuHa / Spring LSA241008 2
31 YnnorHenne / Seal LSA242223 1 31 YnnorHenne / Seal LSA242223 1 31 YnnorHenne / Seal LSA242223 1 31 YnnorHeune / Seal LSA242223 1
32 Bcraska / Insert LSA242225 1 32 Bcraska / Insert LSA242225 1 32 - - - 32 - - -
33 Bcraska / Insert LSA242226 1 33 Bcraska / Insert LSA242226 1 33 - - - 33 - - -
34 Bunt / Screw Burt M4x6 10.9 1ISO7380-1 |1 34 Bunt / Screw Burt M4x6 10.9 ISO7380-1 1 34 Bunt / Screw Burt M4x6 10.9 ISO7380-1 1 34 Bunrt / Screw Burt M4x6 10.9 1ISO7380-1 1
35 BuHt / Screw Bunt M5x12 10.9 ISO7380-1 |1 35 BuHt / Screw Buut M5x12 10.9 ISO7380-1 |1 35 Bunt / Screw Bunt M5x12 10.9 ISO7380-1 |1 35 BuHT / Screw Buntr M5x12 10.9 ISO7380-1 |1
36 Bunt / Screw Burt M4x8 10.9 DIN913 2 36 Bunrt / Screw Burt M4x8 10.9 DIN913 2 36 Bunrt / Screw Burt M4x8 10.9 DIN913 2 36 Bunt / Screw Burt M4x8 10.9 DIN913 2
37 BuHT / Screw Burt M10x6 10.9 DIN913 1 37 BuHt / Screw Bunt M10x6 10.9 DIN913 1 37 BuHT / Screw Bunt M10x6 10.9 DIN913 1 37 BuHT / Screw Bunt M10x6 10.9 DIN913 1
38 Bunt / Screw Burt M5x6 10.9 DIN914 1 38 BuHt / Screw Burt M5x6 10.9 DIN914 1 38 BuHt / Screw Burt M5x6 10.9 DIN914 1 38 BuHT / Screw Bunt M5x6 10.9 DIN9 14 1
39 Bunr / Screw Burt M5x8 10.9 DIN915 1 39 Bunr / Screw Burnt M5x8 10.9 DIN915 1 39 Bunrt / Screw Burt M5x8 10.9 DIN915 1 39 Bunt / Screw Burt M5x8 10.9 DIN915 1
40 Konbyo ynnotuurensHoe / O-ring | O-ring 70NBR 4x1 1 40 Konbyo ynnotuurensHoe / O-ring | O-ring 70NBR 4x1 1 40 Konbyo ynnotuuresnsHoe / O-ring | O-ring 70NBR 4x1 1 40 Konbyo ynnoruutesisHoe / O-ring | O-ring 70NBR 4x1 1
41 Konbyo ynnotuurensHoe / O-ring | O-ring 70NBR 7x1 1 41 Konbyo ynnotuurensHoe / O-ring | O-ring 70NBR 7x1 1 41 Konbyo ynnotuurensHoe / O-ring | O-ring 70NBR 7x1 1 41 Konbyo ynnotuuresnsHoe / O-ring | O-ring 70NBR 7x1 1
42 Konbyo ynnotHuresisHoe / O-ring | O-ring 70NBR 10x1.5 1 42 Kosbyo ynnotuuresisHoe / O-ring | O-ring 70NBR 10x1.5 1 42 Kosnbyo ynnotuuresisHoe / O-ring | O-ring 70NBR 10x1.5 1 42 Kosbyo ynnotuuresnsHoe / O-ring | O-ring 70NBR 10x1.5 1
43 Kosnbyo ynnotautesisHoe / O-ring | O-ring 70NBR 16x2 1 43 Konbyo ynnotuutesnisHoe / O-ring | O-ring 70NBR 16x2 1 43 Konbyo ynnotuutesnisHoe / O-ring | O-ring 70NBR 16x2 1 43 Konbyo ynnotuurensHoe / O-ring | O-ring 70NBR 16x2 1
44 Kornbyo yrnnotuuterisHoe / O-ring | O-ring 70NBR 25x3 1 44 Kornibyo ynnotauternbHoe / O-ring | O-ring 70NBR 25x3 1 44 Konbyo yrnnotauternbHoe / O-ring | O-ring 70NBR 25x3 1 44 Kornibyo yrnnotautenibHoe / O-ring | O-ring 70NBR 25x3 1
45 LLiap kepammnaeckmi / Ceramic ball | Ceramic ball a2 1 45 LLlap kepammndeckwi / Ceramic ball | Ceramic ball a2 1 45 LLiap kepammndeckwi / Ceramic ball | Ceramic ball a2 1 45 Lliap kepamun4eckmi / Ceramic ball | Ceramic ball d2 1
46 LTngpT / Pin 2x6 DIN6325 2 46 LTtngbT / Pin 2x6 DIN6325 2 46 LTngpT / Pin 2x6 DIN6325 2 46 LTnghT / Pin 2x6 DIN6325 2
47 LtnehT / Pin 3x14 DIN6325 1 47 LtnehT / Pin 3x14 DIN6325 1 47 LtnghT / Pin 3x14 DIN6325 1 47 LUtngbT / Pin 3x14 DIN6325 1
48 LTtnghT / Pin 3x18 DIN6325 2 48 LTtngbT / Pin 3x18 DIN6325 2 48 LtnghT / Pin 3x18 DIN6325 2 48 LTtngpt / Pin 3x18 DIN6325 2
49 LUtngbT / Pin 3x32 DIN6325 1 49 LUtngbT / Pin 3x32 DIN6325 1 49 LUtngbT / Pin 3x32 DIN6325 1 49 LTnghT / Pin 3x32 DIN6325 1
50 LUTngbt / Pin 4x10 DIN6325 1 50 LTngpt / Pin 4x10 DIN6325 1 50 LTngpt / Pin 4x10 DIN6325 1 50 LTngpt / Pin 4x10 DIN6325 1




	Лист1
	Чертежный вид1


